
Connecticut Forecasting Model 

CTMODEL 1.0 

 

Taken into consideration available staff, amount of time needed to produce a complete model , and the 
need to produce something relatively soon,  I believe we need to approach the development of the 
model using intermediary steps. The steps taken must end up with the ability to conduct a projection 
each time. In other words, each step (each increase in the model number) should produce a model that 
is more comprehensive than the previous one. The first one, called the CTMODEL 1.0 for now, will have 
to be very basic. To this aim, the following tasks need to be initiated: 

1‐ Separate the projection by : 
a.  Un‐sentenced offenders 
b. Offenders sentenced for less than 2 years 
c. Offenders sentenced for Two years and more 

2‐ Work on the admission formula. This is a must.  
a. You currently have  

i. Population of the state historically and projected by age  
ii. Historical arrests (minimum five years, but prefer ten years) by age if possible 

b. But you still need: (preferably by month, but if you only have it by year, we will make it 
work) 

i. Historical probation revocations  
ii. Historical  parole revocations, 
iii. Historical new probation placements  
iv. Historical parole releases 

3‐ Request from the DOC the admissions for the last twelve months 
4‐ Analyze the admission data and separate the three groups indicated in No. 1 above  
5‐ For the two years and more sentence group, you need to : 

a. Identify two to five offense groups that share similar release laws  
b. Obtain the sentence distribution of each of the groups selected 
c. Analyze the distribution and determine what would be some adequate sentence groups 

based on the number of cases of each sentence length 
6‐ Obtain from DOC the institutional population as of 12‐31‐08 (good for starting the model) 
7‐ From the institutional file separate the three groups indicated in No 1 above. 
8‐ Also for groups a and b under No. 1 above, obtain the time served distribution in months as of 

12‐31‐08 
9‐ Separate the third group (1c) by the sentence length groups that you produced under No. 5c. 

above. 
a. For each of the sentence lengths of each group run the time served distribution by 

month 
10‐ Obtain from DOC a file of the most recent twelve months releases 



11‐ Separate that file into the same three groups indicated under No. 1 above. 
12‐ For groups  1a and 1b run the frequency distribution of time served by months 
13‐ For group 1c : 

a. Separate that into the offense groups you identified in 5a. 
b. Run a frequency distribution for the time served by the sentence lengths groups 

identified under 5c above. 

In the case of the two years sentence and more we can separate them into: 

a. Violent and  Non Violent, or  
b. Violent‐parole eligible vs. violent no‐parole eligible and non violent (that would be three   

groups), or any combination that makes sense. 
 


